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FINACAI MANAC:EMENT HONOURS 

l'aper DsE-6.2A 

Full Marks : 80 

Ine figure n the mirgim indicate Jull marks. 

ardinlilex are raired to givr their answe in their own words 

N Jar us practicable 

Group A 

iIplain heinterrelatendep hetwron financing decision, investment deci ion and dividend decision. 
Or 

5 SCass e signmianee of ne alth niaxnisation. 

Ms Bis considenng o vestment proposals for an amount of 5,000 with following details: 

Return from Investment (T.) 

Maturit 
Pronosa Piod Year Year 2 Yer 3 Year 4 Year 5 Year 6 

***** 

ars 600 600 6 M) 600 600 N.A. 
***** 

NIL NIL 24C0 NIL NIL 800 ( 

P or Re. I 21 10 0.909 0.826 0.751 0.683 0.621 0.564 
** 

Sugees er for sclettiny he becler option considering 10% discounting rate. 5 

3 Brie Iscs the diieent strat egies cf financing current assets with graphical presentation. 
Or 

What arethe varicu SoCEs of f'uar to meet working eapital require nent? 

. riefy pla n toy tae isk-r:un tr:ide: oll play a signilic.int role in the financial decision making. 5 

Kplair. ti e igican of tiune valu: o morney in linancia decision mak ing. Caleulate present value of 

yearnnuity o ) al disc nt rate 10%. 3+2 

Please Turn Over 



2 

onome lite of the plant is 6 years. salvage value is estimated Ost ol rlan 1 
sSh Preias P'holt belone depucation is expected to be 7 3.4 crore for the first year. Find out 
he casb nlow fronm thr pint eon de ng 30 corporate ta» rate. Straight line method of depreciation 

r 

pe ient tvje lt and uanualy exclusive projacts, I 'ielly discuss their selection criteria based 
nNPN 2+3 

0 he 1itil oulay for a p ojoct of e eononie ite ó years is "2,000. The cash flow after tax rom ins proect 1 te liri 19.5(0 andit increased steadily by 7 6,000 p«r annun. Calculate payback 
5 

Group B 

Epiain the coneept of cost of capital. What do you mean by marginal cos: of capital? Why should we 
Censider 1a"ginal cst of capital rather than weighted avera ge cost of capital while evaluating a new 

3+2+5 
DTect? 

Or 
e exis ng capital structure of X. [Ltd. is as follows: 

Equ t' Share Capital and retained earning (Ke = 17%) 5,001,000 
14Pieerence St1ar: Capital 

2,00,0000 
10 Deb: 

3,00),000 
The conr e iy wishes to impiet et he ex pansion of the plant with capital outlay of T 5,00,000. Besides using the a ailable retained camming of ? 1,00,000, the balanc1: additional fund will be raised as follows: 

10% Deb 
7 3,0),000o 

140 Pre erence hare Ca:a 7 1,0,000 
Corporatt 2X ratt is 200. 

AsSming nat speciic cot 01 dilteren! componeits of capiial remaining ame, you are required to 
a) Calclate weignted average cost of capital after the issue of fresh si curities; 
(b Calc 1ae the nrni) cot (f cepiti, and 
(c Com 1 on the ace]t ance ol l exjatn:sion plan i is expected to give a return of 12% 

4+4+2 8. From the llovwin liou preSenied by a anufacturing company, prepare a statement showing Work.ng ctial req'1uenca tor the coming year. 
Expctednthly te i t0 M0 Uia R 20 per unit. The anticipated ritios of selling price are Rav 11tca 

Labe 

Bud t ed uverlead32 000 per w:ek. 
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ca e peises ncieptecintion of " R.000 der weck, Planned stock will include raw-materialsS fom1.00nd?,0 its of finishod goocds Mati al will stay in ocess wecks 

Creii alwe tdebters is weeks re it al owed by Thtors S wecks 
oOt SHS TBy be atmed t e nade agaistl cash. Cash and Bank is to be maintained at 107o Or h worki caita 

e tproductim is CAriel on eienly throughout the year and wzges and overhead accrue 
sinmilarly. 10 

Wna da u unde s and by working capital cvcle' State the factors on which the duration of working 
a e eohds. pilain ie sigificance of working capital cycle in working capital anagem2t 3+3+4 

he se ectei tiaancial dota for compani es A and B for the curtent year end:d March 31, 2022 are as follows 

Particulars Company A Company B 
** 

var able cost as percenlage of Saies 
60 75 

Int tst) 500 800 
Degcee of Opctaiing everage 4 

Degr:e : Fnen.nEeag 2 3 

0.30 0.30 **** 

(a) Prertt ncomd stateient oi Compeny A and Comnpany E. 

8+2 
(b) Conv 1ert on tde risksof tlie two firns. 

Or, 
(a) Wh.d do yo 1t0ptiiin c pital stucture? What ue its features? 

5+5 
(b) Explain he ne inonit pre:ac'1 o the cepital structure teory. 

10. 13 Bak st Co is1uan wo iuiepen lent und indivisible jprojects SB and AKB with following 
detals 

Post ta cash inflows T.) 
***** 

vesitae a( ar Year 2 Yesr 3 Year 4 Year 5 Year 6 

0) 6,30) 38,700 44, 00 50,100 

150) 28,:00 30, 00 32,100 

Pro ec 

41,500 55,000 **** ********* ***** 

37,800 NIL AKB 
**** 

Please Turn Over 



(4) hm ine:iai onarrmn i1S 4 S 

0iu 1t the le t hpetn the bas; nf net prese n valuc consideriig 8o discounting 

5 car 

0.735 0.6810.630 P fo Re I at s 9,6 O857 (0794 

7+3 b Revew YOUr dlecision under protitability ncdex approach and c nent. 

(Or. 

Discuss the denmerits of payback 1period approach. 
b scuss the effeet of ncome tax, salvage value of assets and depreciation cn cash inflows of a 

projec nder consIderation. 4+6 

iier l.id. is havtng cost of capita! 10 per cent and return on investment 12 per cent. The company Carned 20as profit per share and declared 30% dividend. 
Calcu te the 11arket price of equity share under Walter's mod:l. 

b To in.te ase the market price per share. the management is willing to increase :he dividend pay-out atio n the next financial year, but the CFO Mr. Tapesh has opposed such a decision. Give your opinier in this metier. 
5-5 

Or, 
(a Discuss the pros and cons of scrip dividend. 

b Diferer tiete between constant dividencd. rate policy and cons:ant dividend pay-out policy with diagran 
4-6 
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